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Find y of »' +(tanx)y =4sin2x as y(0)=1(10%)

function of (1 — x*)y" — 2xy' + 6y = 0 as y(1)=1 (10%)
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1. A spring-damped-mass system with external force as shown in Fig.l where

m=1, k=2, c=2, r(t) =Focoswt=4cost only exists as t =0~m, and y(0) =y" (0)

(1) Clarify the advance and limitation of using Laplace transform (5%)
(2) Using the Laplace transform to conduct the mass displacement y(t)
(15%) |

(3) If the r(t) always exists, find the amplitude of the steady-state (10%)

Please using the series method to find the Legendre polynomial and
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